o O, /dndp_ [Ub/GeV]

Ratio to ATLAS

=
o
)]

1071

1072

1073

1074

[EEY

0.5

7000 GeV pp Jets

Jet pT (anti-kT(O.4))

- J
--G-- Pythia 6.428 345
----- i1 Pythia 6.428 346
—A— Pythia 6.428 370
Pythia 6.428 ambtl
----------- Pythia 6.428 z1
——— Pythia 6.428 z2

IIII|IIII|IIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|
IIII|IIII|IIII_W|_IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIId_

I
Qe

|
0 20 40 60

8|O
track jet P, [GeV]

Rivet 3.1.0, = 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


